Problem Set 21
Math 103
Dr. Stan Hartzler

A.
Two pizza-delivery snails run away from each other.  The first snail scampers at a rate that is 10 mm per hour slower than the other snail, and goes for 8 hours.  The faster snail only goes for 6 hours.  What is the rate of the second snail if they stop when 522 mm apart?

B.
The ratio of mapped cave to total cave was 11 to 16.  If there were 192 rods of cave in all, how much was unmapped cave?

C.
A 900 ml mix of gasoline that is 44% ethanol was made form one mix of 38% ethanol and another of 53% ethanol.  How much of the 53% mix was used?
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Factor:
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Factor:
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Solve/graph:
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Solve:
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Solve for y:
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30.
(a) Write (but do not simplify) the numerator determinant for the following system when using Cramer’s rule to solve for z:
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(b) Evaluate the denominator determinant for the given system.

31.
The laws of ______________ come from ___________ _________ _________.

32.
When is it that we must preserve denominators and the values of fractions?  When may we destroy denominators?
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34.
If it takes 25 minutes to eat the chili peppers and someone only lasts for 10y minutes, what fraction of the job gets done?

35.
In the problem above, what is the rate of work?
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Now find
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40.
Write the slope of a line parallel








to the line in problem 38.

41.
What is the slope of a line whose equation is 
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Solve:
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Complete the square:
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48.
Take half of b/a and square the result.
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Write the conjugate of 
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Problem Set 22
Math 103

Dr. Stan Hartzler

A.
The ratio of easy problems to total problems was 11 to 24.  If there were 144 problems in all, how many were uneasy?

B.
Ten cubic miles of atmosphere that was 15% ozone was mixed with a quantity of new atmosphere that was 28% ozone to give a final mix of 25.4% ozone.  How many cubic miles of new atmosphere were added?

C.
Lassis runs 3 kph faster than Rin Tin Tin and finishes the race in 18 hours, which is 2 hours faster than Rinty.  How fast is Rinty?
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Solve/graph:

[image: image66.wmf]7

5

2

1

<

-

<

x




10.

[image: image67.wmf]=

+

+

+

hh

hh

hh

hh


11.
Factor:

[image: image68.wmf]=

-

2

2

16

9

y

x





12.
Factor:

[image: image69.wmf]=

+

+

6

8

2

2

x

x


13.

[image: image70.wmf]=

-

+

-

27

75

48

12

2




14.
If 
[image: image71.wmf],

1

-

=

i

then 
[image: image72.wmf]?

2

=

i


15.

[image: image73.wmf]=

+

+

-

2

3

2

3

2

3

2

3

3

3

7

3

3

4

y

x

y

x

y

x

y

x




16.

[image: image74.wmf]=

÷

÷

ø

ö

ç

ç

è

æ

-

2

2

5

y


17.

[image: image75.wmf](

)

(

)

(

)

(

)

=

-

-

×

-

-

2

2

40

1

30

1

5

y

x

c

x

x

c

y

x

d




18.

[image: image76.wmf](

)

(

)

=

-

-

-

2

2

3

2

12

c

x


Solve:
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Solve for y:
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30.
Solve the following system for x using Cramer’s rule:
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31.
The laws of ______________ come from ____________ _____ ___________.

32.
When is it that we must preserve denominators and the values of fractions?  When may we destroy denominators?
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34.
If it takes 15y minutes to eat the chili peppers and someone only lasts for 10y minutes, what fraction of the job gets done?

35.  In the problem above, what is the rate of work?
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For 
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 find three points for the table and graph the line:
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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Solve:
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Complete the square:
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48.
Take half of b/a and square the result.
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Write the conjugate of 
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Find the slope of a line containing these points:
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Problem Set 23
Math 103

Dr. Stan Hartzler

A.
The ratio of easy problems to uneasy problems was 11 to 25.  If there were 144 problems in all, how many were uneasy?

B.
Forty cubic miles of atmosphere that was 15% ozone was mixed with a quantity of new atmosphere that was 20% ozone to give a final mix of 18% ozone.  How many cubic miles of new atmosphere were added?

C.
Lassie runs 2 khp slower than Rin Tin Tin and finishes the race in 18 hours, which is 2 hours more time than Rinty.  How fast in Rinty?
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Solve:
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Solve for y:
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30.
Solve the following system for y using Cramer’s rule:
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31.
The laws of __________ come from ___________ ________ ______________.

32.
What problems in this assignment exemplify where we preserve denominators and the values of fractions?  When we destroy denominators?

34.
If it takes 25y minutes to eat the chili peppers and someone only lasts for 10 minutes, what fraction of the job gets done?

35.
In the problem above, what is the rate of work?
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For 
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 find three points for the table and graph the line:
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Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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Complete the square:
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Take half of b/a and square the result.
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50.

[image: image168.wmf]=

5

/

35


51.
Write the conjugate of 
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54.
Find the slope of a line containing these points:
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Problem Set 24
Math 103
Dr. Stan Hartzler

A.
The ratio of easy problems to total problems was 11 to 24.  If there were 144 problems in all, how many were uneasy?

B.
Some of forty cubic miles of atmosphere was 15% ozone.  The rest was 30% ozone.  If the 40 cubic miles, taken as a whole, was 26% ozone, how big was the part that was 15% ozone?

C.
The Endurance Egret flies 3 kph faster than the Endurance Ermine runs, and finishes her part of the relay in 35 hours, which is 7 hours less time than the Ermine.  If the total distance 1260, find the speed of the Egret.
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Factor:
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[image: image181.wmf](

)

(

)

=

+

-

+

y

x

y

x

b


9.
Solve/graph:
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Solve:
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Solve for y:
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Change notation:
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30.
Solve the following system for z using Cramer’s rule:
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31.
The laws of ___________ come from ____________ ________ ____________.
32.
What problems in this assignment exemplify where we preserve denominators and the values of fractions?  When do we destroy denominators?

33.
(a) 
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34.
Twenty hours are normally needed for a machine to do a job.  If one machine works for 3 hours and another works for 5, what fraction of the job remains to be done?

35.
In the problem above, what is the rate of work?
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For 
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Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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Complete the square:
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48.
Take half of b/a and square the result.
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Write the conjugate of 
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Copy:
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54.
Find the slope of a line containing these points:
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55.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

Problem Set 25
Math 103
Dr. Stan Hartzler

A.
The ratio of uneasy problems to total problems was 11 to 24.  If there were 168 problems in all, how many were uneasy?

B.
Some of forty cubic miles of atmosphere was 15% ozone. The rest was 30% ozone.  If the 40 cubic miles, taken as a whole, was 23% ozone, how big was the part that was 30% ozone?
C.
The Endurance Egret flies 3 kph faster than the Endurance Ermine runs, and finishes the race in 35 hours, which is 7 hours less time than the Ermine.  Find the speed of the Egret.
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Factor:
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Factor:
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Solve/graph:
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Solve:
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Solve for y:
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Change notation:
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30.
Solve the following system for x using Cramer’s rule:
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31.
The laws of ___________ come from ___________ ______ _______________.

32.
What problems in the assignment exemplify where we preserve denominators and the values of fractions?  When do we destroy denominators?
33.
(a) 
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(b) 
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34.
Twenty-four hours are normally needed for a machine to do a job.  If one machine works for 7 hours and another words for 9, what fraction of the job remains to be done?

35.
In the problem above, what is the rate of work?
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For 
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 find three points for the table and graph the line:
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39.
Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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Complete the square:
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48.
Take half of b/a and square the result.

49.
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50.
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51.
Write the conjugate of 
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Copy:
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54.
Find the slope of a line containing these points:
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55.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

Problem Set 26
Math 103

Dr. Stan Hartzler

A.
Frick worked 6 hours and Frack worked 8 hours and that finished the job.  What fraction did each do?

B.
The ratio of word problems to non-word problems was 2 to 9.  If there were 209 problems in all, how many were word problems?

C.
A lecture needs to be 50% BS.  How many minutes of comments that are 100% pure BS should be added to 3 minutes of comments that are 10% BS to get the desired concentration?

D.
A student drives 411 miles to the spring break hotspot.  After driving 4 hours, she reduces her speed by 10 mph and arrives 3 hours later.  What was her speed at first?
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Factor:
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Factor:
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Solve/graph:
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Solve:
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Solve for y:
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30.
Solve the following system for y using Cramer’s rule:
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31.
The laws of ____________ come from ___________ ________ ___________.

32.
What problems in this assignment exemplify where we preserve denominators and the values of fractions?  When do we destroy denominators?

33.
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35.
The value of 64 to the .5 power is what?
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For 
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39.
Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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47.
Complete the square:
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48.
Take half of b/a and square the result.
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51.
Write the conjugate of 
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53.
State the quadratic formula
54.
Find the slope of a line containing these points:
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55.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

56.
Solve by completing the square:
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Problem Set 27
Math 103
Dr. Stan Hartzler

A.
Frick worked 12 hours and Frack worked 18 hours and that finished the job.  What fraction did each do?

B.
The ratio of word problems to non-word problems was 5 to 9.  If there were 310 problems in all, how many were non-word problems?

C.
An industrialist has 25 ounces of 50% beltric acid and wants a quantity of 60% beltric.  How much 80% beltric should be mixed in?

D.
A yodeler hikes up the Matterhorn at 1.5 miles per hour and back down at 4 mph.  If the uphill took 4.5 hours longer, how much time did uphill take?
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Solve/graph:
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Factor completely:
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Solve:
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Solve for y:
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25.
State the quadratic formula.

Change notation:
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Solve 
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29.
Solve for y using Cramer’s rule:
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30.
The laws of ____________ come from ___________ ________ ___________.

31.
What problems in this assignment exemplify where we preserve denominators and the values of fractions?  When do we destroy denominators?

32.
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34.
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35.
Find the slope of a line containing the points
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For 
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Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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47.
Complete the square:
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48.
Take half of b/d and square the result.
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50.
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51.
Write the conjugate of 
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53.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

Problem Set 28
Math 103
Dr. Stan Hartzler

A.
A person can mow a lawn in 40 minutes.  What is the rate of work?

B.
The ratio of hats to shawls was 9 to 13.  If there were 91 actual shawls, how many actual head-coverings of these types were there?

C.
How much milk testing 4% butterfat must be mixed with cream testing 20% butterfat to get 100 gallons testing 16% butterfat?

D.
Supergoat and supersheep start at the barn and run at speeds of 30 and 50 mph respectively.  If the sheep gives the goat a three-hour headstart and then they run until they meet, how many hours does the sheep run?

E.
In problem A above, if the person works for x minutes, what fraction of the job is done?  What fraction remains?
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Factor:
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Factor:
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Solve/graph:
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Factor completely:
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Factor:
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Solve:
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Solve for y:
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25.
State the quadratic formula.

26.
Change notation:
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Solve
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29.
Solve for z using Cramer’s rule:
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30.
The laws of ____________ come from ___________ ________ ___________.

31.
What problems in this assignment exemplify where we preserve denominators and the values of fractions?  When do we destroy denominators?
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35.
Find the slope of a line containing the points
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For 
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39.
Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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47.
Complete the square:
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48.
Take half of a/b and square the result.

49.
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50.
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51.
Write the conjugate of 
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53.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

54.
Find the equation of the line containing the point (4,7) with slope equal to 2/3.  Then “macho-graph”.

55.
Solve for x:
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Problem Set 29
Math 103
Dr. Stan Hartzler

A.
One goat can mow a lawn in 30 minutes.  If two such goats work, how mong will it take to do a lawn?

B.
The ratio of hats to shawls was 9 to 13.  If there were 91 actual shawls, how many actual hats were there?

C.
How much milk testing 4% butterfat must be mixed with cream testing 20% butterfat to get 100 gallons testing 8% butterfat?

D.
Supersheep runs 15 mph less than Supergoat.  Supergoat travels 132 miles while Supersheep goes 96 miles.  Find Supersheep’s rate.

E.
In problem A above, if one goat works for x minutes, what fraction of the job is done?  What fraction remains?
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[image: image469.wmf]3

3

a

y

+






8.
Factor:

[image: image470.wmf](

)

y

x

y

x

a

-

-

+


9.
Solve/graph:
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Solve:
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Solve for y:
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25.
State the quadratic formula.

26.
Change notation:
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28.
Solve 
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29.
Solve for x using Cramer’s rule:
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30.
The laws of ____________ come from ___________ ________ ___________.
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35.
Find the slope of a line containing the points
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For 
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Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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47.
Complete the square:
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48.
Take half of b/a and square the result.
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Write the conjugate of 
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53.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

54.
Find the equation of the line containing the point (-4,7) with slope equal to 3/2.  Then “macho-graph”.

55.
Solve for x:
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Problem Set 30
Math 103
Dr. Stan Hartzler

A.
One person can do a job in three hours; it takes a second person 6 hours.  If they work together for one hour, what fraction of the job gets done?

B.
The ratio of huts to shacks was 9 to 16.  If there were 125 dwellings of this type, how many huts were there?

C.
How much milk testing 4% butterfat must be mixed with cream testing 20% butterfat to get 100 gallons testing 10% butterfat?

D.
Supersheep runs 10mph less than Supergoat.  Supergoat travels 120 miles while Supersheep goes 100 miles.  Find Supersheep’s rate.
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Solve/graph:
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Solve:
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Solve for y:
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25.
State the quadratic formula.

26.
Change notation:
4, 660, 000 =
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28.
Solve:
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by completing the square.

29.
Solve for y using Cramer’s rule:
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30.
Use a = 2 and b = 3 to check a + b = b + a
(TLOACFEIA)
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35.
Find the slope of a line containing the points (-2,-6) and (4, -4).
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For 
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 find three points for the table and graph the line:
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Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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47.
Complete the square:
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48.
Take half of b/c and square the result.
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Write the conjugate of 
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53.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

54.
Find the equation of the line containing the point (-4,7) with slope equal to -3/2.  Then “macho-graph”.

55.
Solve for x:
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Problem Set 31
Math 103
Dr. Stan Hartzler

A.
One person can do a job in 28 minutes; it takes a second person 21.  If they work together for 6 minutes, what fraction of the job gets done?

B.
The ratio of huts to shacks was 9 to 16.  If there were 801 huts, how many total dwellings were there of these two types?

C.
An audience of 400 consisting of 53% Democrats is made from a smaller audience of 35% Democrats and a second smaller group of 60% Democrats.  How many were in the original 35% smaller audience?

D.
Enterprise I could make a 480 light-year trip in the same time that Enterprise II could do a 320 light-year trip.  If the first ship travels 40 parsecs per hour faster than the second, what is the first ship’s rate?
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Solve/graph:
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Factor:
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Solve:
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23.
Solve for y:
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25.
State the quadratic formula.

26.
Change notation:
.0466 =


27.
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Solve 
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29.
Solve for z using Cramer’s rule:
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30.
Use a = 4 and b = 9 to check

[image: image604.wmf]a

b

b

a

=


(TLOACFEIA)

31.

[image: image605.wmf](

)

=

2

4

3

x




32.

[image: image606.wmf](

)

=

+

2

1

5

a



33.

[image: image607.wmf](

)

=

-

-

b

a

4


34.
Divide

[image: image608.wmf]1

2

2

3

-

-

x

x


by 

[image: image609.wmf]1

-

x

.

35.
Find the slope of a line containing the points (-2, -6) and (4, -6).
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For 
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 find three points for the table and graph the line:
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39.
Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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47.
Complete the square:
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48.
Take half of b/c and square the result.

49.
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50.
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Write the conjugate of 
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52.
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53.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

54.
Find the equation of the line containing the point (4 , 6) with slope equal to -3/2.  Then “macho-graph”.

55.
Solve for x:
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Problem Set 32
Math 103
Dr. Stan Hartzler

A. One person can do a job in 20 minutes; it takes a second person 30.  If they work together for 10 minutes, what fraction of the job gets done?

B.
The ratio of huts to shacks was 9 to 16.  If there were 800 shacks, how many total dwellings were there of these two types?

C.
 An audience of 400 consisting of 44% Democrats is made from a smaller audience of 35% Democrats and another smaller group of 60% Democrats.  How many were in the original 35% smaller audience?

D.
Enterprise I could make a 480 light-year trip in the same time that Enterprise II could do a 320 light-year trip.  If the first ship travels 20 parsecs per hour faster than the second, what is the first ship’s rate?
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Solve/graph:
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Solve:
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Solve for y:
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25.
State the quadratic formula.

26.
Change notation:
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28.
Solve
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29.
Solve for x using Cramer’s rule:
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30.
Use a = 4 and b = 9 to check
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35.
Find the slope of a line containing the points (3, -3) and (0, 5).
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For 
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Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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Complete the square:
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48.
Take half of b/a and square the result.

49.
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51.
Write the conjugate of 
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53.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

54.
Find the equation of the line containing the point (-2, 6) with slope equal to -3/4.  Then “macho-graph”.

55.
Solve for x:
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56.
State the largest answer to 
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Problem Set 33
Math 103
Dr. Stan Hartzler

A.
One person does a job in 20 minutes; another does it in 30.  If they work together for 12 minutes, what fraction of the job gets done?

B.
The ratio of hits to shocks was 8 to 14.  If there were 700 shocks, how many total earth tremors were there of these two types?
C.
A rally of 400 consisting of 44% Democrats is made larger by the addition of a group of people that are 60% Democrats, making a final group that is exactly 50% Democrats.  How many were in the group that was 60% Democrats?

D.
Frisbee I makes a 240 parsec trip in the same time that Frisbee II does a 320 parsec trip.  If the first ship travels 10 parsecs per hour slower than the second, what is the first ship’s rate?
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Factor:
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Factor:
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Solve/graph:
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Solve:
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Solve for y:
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25.
State the quadratic formula.

26.
Change notation:
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28.
Solve
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29.
Solve for x using Cramer’s rule:
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30.
Use a = 4 and b = 9 to check
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31.
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35.
Find the slope of a line containing the points (-2, 3) and (1, 5).
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For 
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 find three points for the table and graph the line:
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39.
Now find

[image: image736.wmf]1

2

1

2

x

x

y

y

m

-

-

=



40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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46.
Solve:
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47.
Complete the square:
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48.
Take half of b/a and square the result.
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51.
Write the conjugate of 
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53.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

54.
Find the equation of the line containing the point (4, 8) with slope equal to -4/3.  Then “macho-graph”.

55.
Solve for x:
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56.
State the smallest answer to 
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57.
Solve for x:
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Problem Set 34
Math 103
Dr. Stan Hartzler

1.
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7.
Solve and graph:
a)
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Factor completely:

8.
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16.
The ratio of red necks to long necks was 2 to 9.  If there were 99 long necks in all, how many necks were there in all?

17.
A nine-eyed carp swims up the Mystic River at 4 miles per hour and back down the same distance a 7 miles per hour.  If the upstream trip was 5 hours longer, how long (in hours) was the downstream trip?

18.
A chef’s secret is to combine spaghetti that is 42% sauce with a second batch that is 66% sauce to get a final mix that is 50% sauce.  If there are 78 ounces of the first kind (the 42% stuff), how many of the second kind are needed?
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20.
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Solve:

21.
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25.
Solve for y:
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27.
State the quadratic formula.

28.

[image: image775.wmf]=

3

/

1

64









29.
Solve by completing the square: 
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30.
Solve for y by Cramer’s Rule:
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31.
Test true or false using a = 4 and b = 9:
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32.
Divide 
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33.
Write the slope of the line containing (3, -3) and (1, 8).

34.
Write the slope of a line perpendicular to the line whose equation is
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35.
Show a chart and graph for

[image: image784.wmf]2

2

-

=

x

y


36.

[image: image785.wmf]=

+

-

+

3

4

2

6

8

7

b

b






37.

[image: image786.wmf]=

+

-

2

2

4

a

b

a

c


38.
Solve for (x, y):
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39.
Take half of b/a and square 









the result.

40.
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43.
If one person can do the job in 21 minutes and another can do it in 28 minutes, what fraction gets done if they work together for 6 minutes?

44.
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45.
Change notation:
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46.
Solve for x:
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47.
State the smallest answer to
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Problem Set 35
Math 103
Dr. Stan Hartzler

A.
One person does a job in 24 minutes; another does it in 40.  If they work together for 10 minutes, what fraction of the job gets done?

B.
The ratio of pits to pocks was 9 to 14.  If there were 350 pocks, how many total indentions were there of these two types?

C.
A lost colony of 500 consisting of 56% Dixiecrats is made larger by the addition of a group of people that are 40% Dixiecrats, making a final group that is exactly 50% Dixiecrats.  How many were in the group that was 40% Dixiecrats?

D.
UFO I makes a 240 parsec trip at the same rate that UFO II does a 320 parsec trip.  If the first ship’s time is 4 hours more than the second, what is the first ship’s time?
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Factor completely:
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Solve/graph:
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Factor:
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Solve:
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23.
Solve for y:
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25.
State the quadratic formula.

26.
Change notation:

[image: image817.wmf]=

´

5

10

64

.

4



27.

[image: image818.wmf]=

-

+

3

/

1

4

/

1

4

/

3

27

81

16


28.
Solve
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29.
Solve for z using Cramer’s rule:
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30.
Use a = 4 and b = 9 to check
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34.
Divide
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35.
Find the slope of a line containing the points (-3, -3) and (1, 5).
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38.
For 
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1

2

-

-

=

x

y

 find three points for the table and graph the line:
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39.
Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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43.
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44.
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46.
Solve:
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47.
Complete the square:
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48.
Take half of b/a and square the result.
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50.
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51.
Write the conjugate of 
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53.
Not when you _______ or __________, but when you have an ________;That’s when you kill ________________ gone, gone, gone, whoa-ho whoa-ho whoa

54.
Find the equation of the line containing the point (4, 8) with slope equal to 1/2.  Then “macho-graph”.

55.
Solve for x:
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56.
State the largest answer to 
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57.
Solve for x:
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Problem Set 36
Math 103

Dr. Stan Hartzler

1.
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7.
Solve and graph:
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Factor completely:
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16.
The ratio of red necks to long necks was 2 to 9.  If there were 90 red necks in all, how many necks were there in all?

17.
A nine-eyed carp swims up the Mystic River at 4 miles per hour and back down the same distance at 9 miles per hour.  If the upstream trip was 5 hours longer, how long (in hours) was the downstream trip?

18.
A chef’s secret is to combine linguini that is 29% sauce with a second batch that is 44% sauce to get a final mix that is 32% sauce.  If there are 200 ounces in the final total, how many of the second kind are needed?
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Solve:

21.
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25.
Solve for y:
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27.
Develop the quadratic 








formula from 
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29.
Solve by completing the square: 
[image: image879.wmf](

)

___

___

_____

5

____

10

2

2

=

+

+

-

=

+

+

x

x

x


30.
Solve for z by Cramer’s Rule:
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31.
Test true or false using a = 4 and b = 9:
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32.
Divide 
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33.
Write the slope of the line containing (3, -3) and (-1, 5)

34.
Write the slope of a line parallel to the line whose equation is 
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35.
Show a chart and graph for 
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37.
Solve for (x,y):
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41.

[image: image891.wmf]=

10

6

x


42.
The conjugate of 
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43.
If one person can do the job in 21 minutes and another can do it in 28 minutes, what fraction gets done if they work together for 12 minutes?
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45.
Change notation:
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46.
Solve for x:
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State the sum of the two answers to
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Problem Set 37
Math 103
Dr. Stan Hartzler

A.
One does a job in 24 minutes; another does it in 40.  If they work together for 15 minutes, what fraction of the job gets done?

B.
The ratio of pits to pocks was 9 to 14.  If there were 6300 pits, how many total indentations were there of these two types?

C.
An elitist colony of 480 consisting of 29% plutocrats is made larger by the addition of a group of people that are 54% plutocrats, making a final group that is exactly 44% plutocrats.  How many were in the group that was 54% plutocrats?

D.
Nessie the Loch Monster dives at 40 fathoms per minute to meet Nellie who is rising at 60 fathoms per minute.  If they travel for 265 fathoms between them, how long in time do they swim in this manner?
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Factor completely:
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Factor:
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Solve/graph:
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Factor:
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Factor:
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Solve

19.
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Solve for y:
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25.
Develop the quadratic 








formula from:
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Change notation:
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28.
Solve:
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29.
Solve for z using Cramer’s rule:
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30.
Use a = 4 and b = 9 to check
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Divide
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35.
Find the slope of a line containing the points (0, 3) and (1, -2).
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38.
For 
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39.
Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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43.
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44.
Solve:
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45.
Find the area of a circle with diameter 6x.
46.
What can you tell about two numbers if their product is…


a)
Equal to 0?
B)
> 0
C)
< 0?

47.
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49.
Write the conjugate of 
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50.
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51.
Find the equation of the line containing the point (4, 8) with slope equal to 1/2.  Then “macho-graph”.

55.
Solve for x:
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56.
State the smallest answer to 
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Problem Set 38
Math 103
Dr. Stan Hartzler

1.

[image: image955.wmf](

)

=

-

2

xx

x







2.

[image: image956.wmf](

)

(

)

=

+

+

y

x

y

x

3

2


3.

[image: image957.wmf](

)

=

-

-

2

2

3

4

a

a

a

a






4.

[image: image958.wmf](

)

(

)

=

-

-

-

2

2

2

2

x

y

y

x


5.

[image: image959.wmf](

)

=

-

3

2

3

a







6.

[image: image960.wmf](

)

=

3

2

2

a

a

a


7.
Solve/graph:
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Factor completely:
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16.
The ratio of red necks to long necks was 7 to 4.  If there were 451 necks in all, how many long necks were there in all?

17.
A nine-eyed carp swims up the Charles River at 2 miles per hour and back down another distance at 9 miles per hour.  If the times up and down were the same and the upstream distance was 5 miles less, how long (in miles) was the downstream trip?

18.
A disc jockey’s secret is to combine rock music that is 23% uplifting subliminal messages with a second batch that is 41% such messages to get a final, effective balance that is 29% messages.  If there are 900 minutes of music involved in the final total, how many of the 23% kind are needed?
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Solve:
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25.
Solve for y:
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27.
Develop the quadratic formula from
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29.
Solve by completing the square:
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30.
Solve for x by Cramer’s Rule:
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31.
Test T or F for a = 25 and b = 16:
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33.
Write the slope of the line containing (3, -3) and (-2, -5).

34.
Write the slope of a line perpendicular to the line whose equation is 
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35.
Show a chart and graph for
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37.
Solve for (x, y):
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40.
The conjugate of 

[image: image994.wmf]3

2

6

+

 is ??

41.

[image: image995.wmf]=

-

3

2

6

6


42.
If one icebreaker can free the whales in 30 hours and another can do the job in 70 hours, what fraction gets done if they work together for 14 hours?
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44.
Change notation:
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45.
Solve for x:

[image: image998.wmf]x

bx

d

dx

b

+

-

=

-

3

2


46.
State the positive difference (larger minus smaller) between the two answers to 
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Problem Set 39
Math 103
Dr. Stan Hartzler

A.
One fixes a car in 36 minutes; another can in 45.  If they work together for 8 minutes, what fraction of the job gets done?

B.
The ratio of spits to sprockets was 8 to 7.  If there were 630 sprockets, how many total grill components were there of these types?

C.
A colony of 240 penguins consisting of 28% emperors is made larger by the addition of a group that is 53% emperors, making a final group that is exactly 43% emperors.  How many were in the group that was 54% emperors?

D.
Charlie Tuna swims away from Morris the Cat at ten times Morris’ rate.  If, after 20 minutes of swimming for each, Charlie is 4500 yards ahead, what is Morris’ rate?
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7.
Factor completely:
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Factor:
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Solve/graph:
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Factor:
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Factor:
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18.
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Solve:

19.
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Solve for y:
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25.
Develop the quadratic formula from:
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26.
Change notation:
62, 4000, 000
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28.
Solve
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29.
Solve for z using Cramer’s Rule:
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30.
Use a = 4 and b = 9 to check
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34.
Divide
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35.
Find the slope of a line containing the points (1, -3) and (1, -2).

36.

[image: image1036.wmf](

)

(

)

=

+

-

+

2

2

9

6

4

3

2

y

xy

x

y

x




37.

[image: image1037.wmf](

)

(

)

x

y

x

y

x

x

+

+

-

2

2

4

2

=

38.
For 
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39.
Now find
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40.
Write the slope of a line parallel

          






to the line in problem 38.

41.
What is the slope of a line whose equation is 
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43.
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44.
Solve:
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45.
Find the area of a circle with diameter 10xy.

46.
What can you tell about two numbers if their product is…


a)
Equal to 0?
B)
> 0
C)
< 0?

47.
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49.
Write the conjugate of 
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50.
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51.
Find the equation of the line containing the point (-3, 8) with slope equal to -1/2.  Then “macho-graph”.

52.Find the slope of the line containing the points
(-4, 4) and (0, 6)

53.
Solve for x:
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54.
State the largest answer to 
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Problem Set 40
Math 103
Dr. Stan Hartzler
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Solve and graph:
a)
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Factor completely:
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16.
The ratio of total necks to long necks was 7 to 4.  If there were 455 necks in all, how many red necks were there?

17.
A mutant sludge worm slithers up the Charles River at 30 feet per hour and back down the same distance at 50 feet per hour.  If the upstream time up was 10 hours more, how long (in hours) was the downstream trip?

18.
The firs part of the novel was 85% terror.  The last part was 64% terror.  If there were 217 pages in all and 82% of the total was terror, how many pages long was the first part?
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20.
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Solve:

21.
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25.
Solve for y:
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27.
Develop the quadratic formula from:


[image: image1080.wmf]0

2

=

+

+

c

bx

ax


28.

[image: image1081.wmf]=

5

/

3

32



29.
Solve by completing the square:
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30.
Solve for y by Cramer’s Rule:
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31.
Test T or F for a = 2 and b = 3:
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32.
Divide
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33.
Write the slope of the line containing (3, -3) and (-2, 5).

34.
Write the slope of a line perpendicular to the line whose equation is 
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35.
Show a chart and graph for
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37.
Solve for (x, y):











[image: image1092.wmf]1

5

2

0

3

=

+

=

+

y

x

y

x


38.
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40.
The conjugate of 
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42.
If one icebreaker can free can start the party in 30 hours and another can do the job in 70 hours, what fraction gets done if they work together for 18 hours?

43.
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44.
Change notation:
.00777

45.
Solve for x:
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46.
State the positive difference (larger minus smaller) between the two answers to:
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47.
Tell what you can about xy in each case.


a)
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48.
Find the diameter of a circle with the area
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49.
Graph:
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50.
Solve:
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51.
Describe the graph of a system of linear equations which is:

a) inconsistent
b) consistent and independent

c) consistent and dependent
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